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Atomic Energy Central School No. 4 Rawatbhata 

Class 10 - Science 

Periodic test-I (2019-20) 

Maximum Marks: 40 Time Allowed: 1 hour and 30 minutes 

Section A 

1. The colour of solid product formed on heating ferrous sulphate is 1 

a) reddish brown b) green 

c) black d) colourless 

2. In the reaction : CuO + H2 → Cu + H2O the reducing agent is : 1 

a) H2O b) H2 

c) CuO d) Cu 

3. Shown below are four parts of a slide of an epidermal peel, marked I, II, III 1 

and IV. Which part out of these four should be focused under high power to view 

complete stomata ? 

 

 

 

 

 

a) II b) III 

c) I d) Iv 

4. A student sets up her circuit, for finding the equivalent resistance of a series 1 

combination of two given resistors R1 and R2, in the manner as shown. She did 

not obtain the correct results in her experiment because of a mistake in her circuit. 

This mistake can be corrected by shifting the 

a) ammeter and connecting it between K and T 

b) ammeter and connecting it across P and Q 

c) voltmeter and connecting it across T and P with correct polarity 

d) voltmeter and connecting it across P and Q 

5. A student carries out an experiment and plots the V-I graph (V has been 1 plotted on 

the vertical axis and I has been plotted on the horizontal axis) of three samples of 

nichrome wire with resistances respectively as shown in the figure. Which of the 

following is correct? 

 

 

 

 

a) R3 > R2 > R1 b) R1 > R2 > R3 

c) (R ∝    1  

slope of V−I 

graph 

d) R3 = R2 = R1 ) 
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6. Why should a magnesium ribbon be cleaned with a sandpaper before burning 1 

in air? 

7. Identify the oxidising agent in the following: 1 

MnO2(s) + 4HCI→ MnCl2(aq) + Cl2(g) + 2H2O 

8. Write balanced chemical equation for the following. 1 

Zinc carbonate → Zinc oxide + Carbon dioxide. 

9. Define corrosion. 1 

10. How many joule are there in 1 kWh? 1 

Section B 

11. When solutions of silver nitrate and sodium chloride are mixed, white 3 

precipitate forms. The ionic equation for the reaction is      Ag+(ag) + Cl- →AgCl(s) 

i. a. What is the name of the white precipitate? 

b. Is it a soluble or insoluble compound? 

ii. Is the precipitation of silver chloride a redox reaction? 

OR 

What does one mean by exothermic and endothermic reactions ? Give examples. 

12. Describe double circulation in human beings. Why is it necessary? 3 

OR 

Differentiate between arteries and veins. 

13. What is bile? What is its role in the digestion of food?                                                    3 

14. What is Joule’s heating effect? How can it be demonstrated experimentally? 3 

List its four applications in daily life. 

OR 

What is meant by electric power ? Give its units. How is it related to V and I? 

15. What is meant by electric current? Write its SI unit. Calculate the amount of 3 

charge that flows through a conductor when a current 5A flows through it for 2 min. 

Section C 

16. (a) What are precipitaion reactions? Write an equation for the same. 

(b) how can we prevent rancidity? (any three) 5 

17. Explain the location, structure and functions of kidney in human beings. Also 5 

draw an appropriate diagram of human excretory system. 

OR 

Explain the nutrition process in an Amoeba with the help of a diagram. 

18. What is meant by resistance of a conductor? Name and define its SI unit. List 5 

the factors on Which the resistance of a wire affected, if (i) its length is 

doubled, (ii) its radius is doubled? 
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Atomic Energy Central School No. 4 Rawatbhata 
 

Class 10 - Social Science 
 

Periodic Test - I (2019-20) 
 
Maximum Marks: 40 Time Allowed: 1 hour and 30 minutes 
 
General Instructions:All questions are complusory. There is no overall chpoice, however 

in some questions, internal choices have been given. 

 Section A  

1. What did the term 'picket' refer to?  1 

 a) Boycott of clothes and goods b) Protest by blocking shop entrances  

 c) Stealing from shops d) Import of goods  

2. He composed the song ‘Vande Mataram’: 1 

 a) Rabindranath Tagore b) Sarat Chandra Chatterjee  

 c) Bankim Chandra Chattopadhyay d) Natesa Sastri  

3. Ravines refers to the  1 

 a) Bad land created at Kuluvalley b) Bad land created at Chambal valley  

 c) Bad land created at Godavari valley d) Bad land created at Ganga valley  

4. The ‘community government’ is not elected by people belonging to which 1 

 language community – no matter where they live  

 a) Sri Lankan Tamils b) German-speaking  

 c) French-speaking d) Dutch-speaking  

5. Sustainable development is necessary because 1 

 a) Human nature b) Development of a country  

 c) Market will get disturbed d) Resources will deplete  

6. Who was the Sanyasi leader of the Awadh peasants? 1 

7. Which resources are surveyed and determined on the basis of their quantity 1 

 and quality for utilisation?   

8. Which country do 'Indian Tamils' belong to? 1 

 OR  

 

 What is vertical division of powers?  

9. Define average income. 1 

 OR  

 Define infant mortality rate.  

10. Which is the main cause of land degradation in Madhya Pradesh? 1 

 OR  

 What is the main cause of land degradation in Punjab?  

 Section B  



11. Explain the role of Ambedkar in uplifting the dalits or the depressed classes. 3 

12. List the problems caused due to the indiscriminate use of resources by human 3 

 being?  

 OR  

 What are the different factors that determine land use?  

13. Explain the consequences of the majoritarian policies adopted by the Sri 3 

 Lankan government.  

14. What is human development index? Who has prepared it? Write about basic 3 

 components of human development measurement.  

15. On the political outline map of India given below, identify the soil types in (i), 3 

 (ii), (iii).   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 Section C  

16. Why did Mahatma Gandhi relaunch the Civil Disobedience Movement with great 
apprehension? Explain. 5 

17. Which is most widely spread and important soil of India? State the characteristics of this type 
of soil. 5 

18. Write a paragraph on your notion of what should India do or achieve to become a 
developed country. 5 

 

OR 
 

Why are better public facilities needed for the development of the country? 

Explain any four public facilities. 
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Atomic Energy Central School No. 4 Rawatbhata 

Class 10 - English Language and Literature 

Time 1 Hour 30 Minutes Periodic Test-I (2019-20)     MM: 40 

General Instructions: All questions are compulsory. 
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परमाणु ऊर्ाा केन्द्रीय विद्यालय – 4, राितभाटा 

प्रथम आिवधक परीक्षा, (2019-20) 

पूणाांक- 40  कक्षा-दसिीं  विषय-वहन्द्दी  समय-1.30 घंटा 

 

प्र.1 निम्ननिखित गद्यांश को पढ़कर पूछे गए प्रश्ोां के सही उत्तर दीनिएः- 

 मिुष्य एक सयमयनिक प्रयनि है।  समयि में उसके नमत्र भी होते हैं, शतु्र भी, 

पररनित भी, अपररनित भी।  िहयाँ तक शतु्रओां, पररनितोां और अपररनितोां कय प्रश् है, 

उन्हें पहियििय बहुत कनिि िही ां होतय, नकनु्त नमत्रोां को पहियििय, मुख्यतः सचे्च नमत्रोां 

को पहियििय बहुत कनिि होतय है।  यह प्रययः देिय गयय है नक एक ओर तो बहुत से 

िोग अपिे-अपिे स्वयर्थवश सम्पन्न, सुिी और बडे आदनमयोां के नमत्र बि ियते हैं, यय 

ज्ययदय सही यह होगय नक वह नदियिय ियहते हैं नक वे नमत्र हैं।  इसके नवपरीत िहयाँ तक 

गरीब, निर्थि और दुिी िोगोां कय प्रश् है, नमत्र बििय तो दूर रहय िोग उिकी छययय से 

भी दूर भयगते हैं।  इसीनिए कोई व्यखि हमयरय वयस्तनवक नमत्र है यय िही ां, इस बयत कय 

पतय हमें तब तक िही ां िग सकतय िब तक हम नवपनत्त में ि होां।  नवपनत्त में िकिी 

नमत्र तो सयर् छोड देते हैं और िो नमत्र सयर् िही ां छोडते, वयस्तनवक नमत्र वे ही होते हैं।  

इसीनिए यह िीक ही कहय ियतय है नक नवपनत्त में ही सचे्च नमत्र की पहियि होती है। 

क. मिुष्य कैसय प्रयनि है?       1 

ख. आरु्निक युग में नमत्रतय नकसपर आर्यररत िही ां है?  1 

ग. िोग कुछ व्यखियोां को नमत्र क्ोां िही ां बियिय ियहते?  1 

घ. वयस्तनवक नमत्र कैसय होतय है?      1 

ङ. िकिी नमत्र कैसय होतय है?      1 

प्र.2 निम्ननिखित प्रश्ोां में से नकन्ही ां ियर प्रश्ोां के उत्तर दीनिए।    2X4=8 

क. िौरयहोां पर िगी मूनतथ के प्रनत आपके और दूसरे िोगोां के क्य उत्तरदयनयत्व होिे 

ियनहए? 

ख. बयिगोनबि भगत िी िे पुत्र की मृतु्य पर पुत्रवरू् को रोिे के स्र्यि पर उत्सव 

मियिे के निए क्ोां कहय? पयि के आर्यर पर निखिए। 

ग. िेतयिी कय िश्मय पयि के आर्यर पर पयि वयिे कय नित्रि कीनिए। 

घ. भगत के व्यखित्व और उिकी वेशभूषय कय विथि अपिे शब्ोां में कीनिए। 



ङ. पयि के आर्यर पर बयिगोनबि भगत के मरु्र गययि की नवशेषतयएाँ  निखिए। 

प्र.3 पनित गद ्यांश को पढ़कर पूछे गए प्रश्ोां के उत्तर दीनिए- 

 हयिदयर सयहब की आदत पड गई, हर बयर कसे्ब से गुिरते समय िौरयहे पर 

रुकिय, पयि ियिय और मूनतथ को ध्ययि से देििय।  एक बयर िब कौतुहि दुदथमिीय हो 

उिय तो पयिवयिे से ही पूछ नियय, क्ोां भई क्य बयत है यह तुम्हयरे िेतयिी कय िश्मय 

हर बयर बदि कैसे ियतय है। 

 पयिवयिे के िुद के मुाँह में पयि िुाँ सय हुआ र्य।  वह एक कयिय, मोटय और 

िुशनमियि आदमी र्य।  हयिदयर सयहब कय प्रश् सुिकर वह आाँिोां-ही –आाँिोां में हाँसय।  

उसकी तोांद नर्रकी।  पीछे घूमकर उसिे दुकयि के िीिे पयि रू्कय और अपिी ियि-

कयिी बत्तीसी नदियकर बोिय, कैप्टि िशे्मवयिय करतय है। 

क. बत्तीसी नदियिे से क्य अनभप्रयय है?      1 

ख. हयिदयर सयहब िे पयिवयिे से क्य पूछय?     2 

ग. हयिदयर सयहब को कौि-सी आदत पड गई र्ी?    2 

प्र.4 निम्ननिखित प्रश्ोां के उत्तर दीनिए-     2X4=8 

क.उद घव के व्यवहयर की तुििय नकस-नकसके की गई है? 

ि. गोनपययाँ उद्धव को भयग्यवयि क्ोां कहती हैं? 

ग.मरजयदय ि िही के मयध्यम से कौि-सी मययथदय ि रहिे की बयत की िय रही है? 

घ. गोनपययाँ स्वयां को भोिी क्ोां कहती हैं? 

प्र.5 निदेशयिुसयर उत्तर दीनिए-      1X4=4 

क. वे घर से दूर रे् अतः उदयस रे्। (सांयुि वयक् में बदनिए) 

ख. ज्योां ही मैं घर पहुाँिय, त्योां ही वषयथ होिे िगी।(वयक् कय प्रकयर बतयइए) 

ग. हमें स्वयां  करिय पडय और पसीिे छूट गए।(नमश्र वयक् में बदनिए) 

घ. घांटी बिती है और बचे्च कक्षय में आ ियते हैं।(सरि वयक् में बदनिए) 

प्र.6 मयतय कय आाँिि पयि में आए ऐसे प्रसांगोां कय उले्लि कीनिए िो आपके नदि   

    को छू गए होां।             5       . 

      अर्वय 

  आपके नवियर से भोियियर् अपिे सयनर्योां को देिकर नससकिय क्ोां भूि ियतय है? 

प्र.7 नियनमत व्ययययम कय महत्त्व बतयते हुए छोटे भयई को एक पत्र निखिए।  5 

------------------ 


